FEEzZZ8 | Solu? rems fs#z2

i_ C_ﬁ] H'Ul.“_'ru:jt G’{Qm&'fdﬁ b5 Tew = - 02

pats = mrd = 0.044927m

(&) A= (0m ) otm) = txrm T m?
B e N D.0%%2 Y =
&1 #®e oy T T e
SMoprit 000 (wrxis TiA) (1 %0
Z

J . N7 =
(d) Lo = R > NS R e

N=_fRluw = 26t

N ~ 57 "EL-J"L-.S
M-MF N
) @ = R = m
s _ Nt
B = A ToonA
o @R s ixeT) (18708s) _ 5 okl
N 7> '3 M
(F) bigee = € et eer: + lcuy + lem ) X 87 = 398w
‘“-H-_._._-—-—-'"'_"“x,.-——-..___________,_p
-""‘?;"-'-{_Zr?- ,_,F Jue n‘.':u--";a, = 3.4€m

Prﬂiay? would heasute GFF 0 \'J'i'f- morte o Gecavn

pﬂ'- Cﬂﬁﬁeﬁf.";’H _I'f.'.rég ,:;.-1,_51! -..T‘I'II{J,H:} Z’_(-'F t‘.-t.-l";“f- f(.r f-t.?f'reﬁﬂ

po siba, e next Totn,




